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H1:PSL-POWER_SCALE_OUT16, mean = 38 (W)

N
o
1

w
»
1

PSL power into IMC (W)
w
(o]

o

'50' - '160' - '1é0' B '260' - 'ZéO' - '360' B 'BéO' - '460'
Time [s] since 2020-01-04 18:20:42 UTC (1262197260.0)




Strain ()

H1:DCS-CALIB_STRAIN_CLEAN_SUB60HZ_CO01
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H1 strain sensitivity, 2020-01-04 18:20:42 UTC (1262197260.0)
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H1 displacement sensitivity, 2020-01-04 18:20:42 UTC (1262197260.0)
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H1 displacement sensitivity, 2020-01-04 18:20:42 UTC (1262197260.0)
Photon calibration excitation frequency zoom
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H1 displacement sensitivity, 2020-01-04 18:20:42 UTC (1262197260.0)
Photon calibration excitation frequency zoom
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H1 UIM actuation strength change

I I I I I I I I I I I I ]
I Real i
B Magnitude ]
B Real linear fit delta=-0.000719 ||
B Mag linear fit delta=-0.0006935 |
— T T T T 1
0 100 200 300 400
Il Il Il Il Il Il Il Il Il Il Il Il 1
I Imaginary H
I Imag linear fit delta=-0.003002 ]
==
0 100 200 300 400
I I I I I I I I I I I ]
B Imaginary H
M Pha linear fit delta=-0.1727 |
0 100 200 300 400

Time [s] since 2020-01-04 18:20:42 UTC (1262197260.0)

H1 PUM actuation strength change
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H1 Optical plant change
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